3
A

/ x/lfﬁng(#mww/a“)

/ WM
4 //zp
23
S ) s & wle x /o
/F
7.3
= 3.2 5 flo

23 > - /0
W%S.Bx/a MW = S 3/ . Y.8 % /le esy

il
/Y
= Ll sain € su,
2 3 —19
o 3,3 X/o x /. &€ xse Ca-—a/

(./
= 5,3 wie W



b)

é‘r*av

Ewiunl

me’ec"’

‘chec'/—

Gl‘"ﬁ\i

Fﬂou(

- &
G = g.6F wto Mm?‘
s

S

—

ll

=% y

G m, m,

T 4t
-2 Y
/-6 F /o ;/714

.8 x /o0 esu.

—24
;(:ﬁ:,w‘ x(/.é—“» X lo Z}mu

b

g
£.L % %o

2

i

2
( Y& X /0—/p€Su)

-3 F
FeO % Jo

-2

y i B G .

_Jo
4.8 x te s U
-5 -2 8.2
L. & F Xiw w(?.//x/o’ )
i =3
(‘feB w /o “?)

— 443
2ol N IE



' %
- (z52)

'_ ‘1: ( 30&’% X ?5’6’544../,&:_//: ;4 (50(’/&-4)

250/25

= 85%¢ péyu eom

cL T g5 %0 €su.

e

<28em—>

25¢em

|



4.

bbeZeial foree Leligein Lallo

F(aa/ - —%

b4
[
= (83 20 s i)

(Fam)L

= 27 Yo Gz7n~l

"_ x & r ..
R A
& at

)
L F = F = _g? q*
b iip 4 27 '—;ﬁ = 24-,}/;@1

s -fqu -f;;
X A .
e N
= ot Je

- 9 ¢
"_|F'__ 2
N2 &

3

JZ— Sg = 0 .

CL






